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Test di Ragionamento Logico

1. When the heavy snow fell last week schools haddoide whether to close or remain open. The decissn
always a difficult one, as there are a number otfars to consider. On the one hand, closing schamsises
a lot of disruption, as working parents have to ¢anot someone who can look after their children dtost
notice. On the other hand, it makes sense to trkéep the amount of traffic on the road as low asspible.
However, if schools remain open when it snows, fi@aincreases as more parents take their childrem t
school by car. Therefore all the schools in towrosifd have been closed last week.

Which one of the following is an assumption in th@bove argument?
A) The problems caused by traffic are more sigaificthan those caused to the parents by closing the
schools
B) Parents wanted the schools to remain open
C) Teachers could have travelled into school
D) The schools that closed didn't consider theiromg carefully enough
E) Employers should take into account the needbenf employees who have children

2. Doctors and nurses do not receive a bonus when g@ye a patient's life, as it is part of their jolis the same
with teachers when pupils do very well in their ems. However, in the UK it was recently proposed thalice
officers should be given a bonus of up to £1,000 year based on their contribution to the detectiohcrime.
This proposal should be rejected because publi¢sagorkers should just do their jobs well.

Which one of the following, if true, most weakenghe argument against the bonuses to police officéts
A) Inthe UK there is a significant shortage ofipelofficers
B) Teacher bonuses would actually depend on puhatsl work
C) The National Health Service would not survivé Had to pay bonuses
D) The public is generally rather critical of paiofficers
E) Inthe private sector employers can pay bontestseir employees at their discretion

3. Luke has tried to avoid catching the football scdvefore watching the highlights. He heard a cheeorh the
pub so he knows his team have scored at least @ad hey wouldn't have cheered like that for angher
reason.
Which one of the following most closely parallelsie reasoning used in the above passage?
A) Every night the next door family always makeesthiey turn out every light in the house before
going to bed. Laura sees that their living roonhtlig still on, so at least one of them must bl
up
B) Every night the family next door always turn ewery light in the house before going to bed. The
hall light was on last night. There must be a redeothis. Maybe they've gone away on holiday
C) Every night the next door family always makeestirey turn out every light in the house before
going to bed. The living room light was on lasthtigThe father has told Laura he is having
difficulty sleeping, which would explain why theyht was on
D) The family next door never turn all their lighaH before going to bed, always leaving at least t
hall light on. There have been no lights on nowtfoee nights. Laura can conclude that they've
gone away on holiday
E) The family next door leave lights on at nighth&ir daughter is having nightmares. Their daughte
was having nightmares last nigh, so they left idpet$ on



4. The cuboid shown below consists entirely of cub¢hat are identical, except that some are white ah
the rest are black.

What is the maximum possible number of black cubem this cuboid?
A) 64
B) 56
C) 51
D) 66
E) 69

5. The diagram below shows a cross-section of orieBarbara’s dinner plates.

5mm

Barbara is going to put a shelf in her kitchen cupoard. She wants to make sure that under the new
shelf there is sufficient space to stack eight diram plates (of the type shown in the diagram) and h
also wants to make sure that there will remain a 5nm space between the top plate and the shelf.
What is the minimum gap Barbara must leave beneatthe shelf?

A) 97 mm

B) 92 mm

C) 87 mm

D) 106 mm

E) 111 mm

6. A group of students takes two tests, one in aand one in mathematics. The tests are scored out of
100 and the results are shown below, with each spapresenting one student's results.
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Which one of the following can be reliably deduceéfom the chart above?
A) Few students scored above average in both $8bjec
B) Students generally scored similarly in both saty
C) A student who scored well in art generally algbwell in mathematics
D) A student who scored well in mathematics gemeedso did well in art
E) The students found the mathematics test edsiarthe art test
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The advertising agencyBeautiful Promotionshas a new logo. It has had the design engraved glass
and it will hang in the front window to be viewed fom the outside as shown below:

bP

Unfortunately, the logo was hung upside down (i.eotated clockwise by 180°).
Which one of the following shows how the logo appes from inside?

Pb Ad Pd bP d9

A 1
B) 2
C) 3
D) 4
E) 5

8. A child wants to put together a jigsaw puzzle wh six pieces, but has lost one piece.
The five remaining pieces are shown below:

(3] o]

Which of the following pieces is the one that thehild lost?
1 2 3 4 5
A)
B)
C)

D)
E)

R AN o



9.

10.

11.

12.

13.

An eight-page booklet is to be made from a sirgkheet of paper which is printed before cutting ah
folding. As shown below, in stage 1 the paper is tin half and the lower piece lifted and placed on
top of the upper piece without changing its orienton. The two stacked sheets are then folded, as
shown in figures 2 and 3, so that the top sheet endp in the centre of the booklet.
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Fig 1
The first page of the booklet is labelled F (front the following pages are numbered from 1 to 6 in
sequence and the last page is labelled B (back). W&im one of the following layouts of the sheet showtise
correct sequence of letters and/or numbers which shld appear on the sheet before cutting and foldirgy
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Three of the Tuesdays in a particular month othe year fall on even numbered days.
What day is the 19" of that particular month?

A) Friday

B) Tuesday

C) Wednesday

D) Thursday

E) Saturday

Identify the word whose etymology does NOT faliv the same “logic” of the other words:
A) ambitious
B) ambivalent
C) ambidextrous
D) ambigender
E) ambisexual

Identify the word whose etymology does NOT fallv the same “logic” of the other words:
A) paraffin
B) paragon
C) paradox
D) parallel
E) parallax

Which is the only pair of words that logicallycompletes the following verbal equation?
X : philosophy = biochemistry :y

A) x = hermeneutics y = chemistry

B) x=logistics y = natural science

C) x=graphology vy = biology

D) x=criminology vy = biophysics

E) x= epistemology y = biotechnology
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Passage 1

Features of Chinese architecture

Read the following passage and answer the questiefesring to its content

Chinese architecture refers to a style of arcitedhat has taken shape in Asia over the centlifiesstructural principles of Chinese architecture
have remained largely unchanged. The architecfuBioa is as old as Chinese civilisation. Thergtrisng evidence from the artistic and literary
sources available to us that the Chinese have siemagloyed an indigenous system of constructidrintisaretained its principal characteristics from
prehistoric times to the present day. That thiesy®f construction could perpetuate itself for ertban four thousand years over such a vast grrito

and still remain a living architecture, is a pheanom comparable only to the continuity of the isigtlon of which it is an integral part. Chinese

architecture retains its principal characteristicspite of repeated foreign invasions — militamgllectual, spiritual.

There are certain features common to all Chinesiterture regardless of specific region or use.mbst important is the emphasis of the horizontal
axis, in particular the construction of a heavyfpten and a large roof that floats over this bae vertical walls are not as well emphasised. This
contrasts with Western architecture which tendgduw in height and depth. Chinese architecturesgteethe visual impact of the width of buildings.

The halls and palaces in the Forbidden City, fangpte, have rather low ceilings when comparedatelgtbuildings in the West. This of course does
not apply to pagodas, which in any case are relgtiare.

Chinese buildings may be built with either greyeat bricks, but wooden structures are the most @mthese are more capable of withstanding

earthquakes, but are more vulnerable to fire. @bieaf a typical Chinese building is curved; therre strict classifications of gable types, comparab
with the classical orders of European columns.

Certain architectural features were reserved sioletyuildings built for the Emperor. One examgléhie use of yellow roof tiles, yellow having been
the Imperial colour. The Temple of Heaven, howewses blue roof tiles to symbolise the sky. Thedsaacolumns of the buildings, as well as the
surface of the walls, tend to be red. Black is afstely used as it was believed that the colowkdlaspired the gods to descend to earth.

Numerology heavily influenced Imperial Architectunence the use of nine in much of constructiame(being the greatest number) and the reason
why The Forbidden City in Beijing is said to hay@9®.5 rooms, just short of the 10,000 mythicalm®a heaven. The importance of the East (the
direction of the rising sun) in orienting and gjtimperial buildings is a form of worship foundchrany ancient cultures.

14. In paragraph 1 the author’s view of continuityof the principal features of Chinese architectures that it is:
(seepassage 1L
A) continuity of Chinese architecture is tightlpkied to the extraordinary continuity of the Chinese
civilisation
B) unsurprising, given the strong emphasis on #eaf indigenous construction
C) typical of the architectural continuity of Asi@er many years
D) interesting in its use of influences from otbailisations
E) apparently impervious to the influence of otbaltures following invasions

15. Chinese architecture is concerned with: (sgmssage 1L
A) width rather than height
B) vertical emphasis
C) scale to indicate status
D) regional features
E) height rather than width

16. From the information in passage /1the common use of wooden structures suggest tlihe designers:
A) saw earthquakes as a significant risk
B) wanted material which was cheaply available
C) moved their ideas away from use of brick arestil
D) wanted buildings which would withstand fire
E) thought wood a good medium to take the coloedsand black

17. According topassage 1Chinese architects shared common ground with othencient cultures in:
A) siting buildings to face the rising sun
B) worship of the gods
C) using ideas about the number nine to deterrhi@etimber of rooms
D) using curved roofs
E) using the colour yellow to indicate status



18. The author ofpassage kuggests that pagodas:
A) are not common in Chinese architecture
B) are wrongly associated with Chinese architecture
C) were part of an ancient culture but becamedessmon
D) used the colour black to invoke the gods
E) are held in high esteem in China

Passage 2

Modern Decadence

Read the following passage and answer the questiefesring to its content

An obvious difference between the ancient world taddy is the speed of our scientific progresstiadmmediate application of the findings of
scientific research in ever more sophisticatedniglogy. Whereas the aealipile invented by Herolekandria and considered the forerunner of the
steam engine remained a toy, the discoveries aématientists and inventors have been swiftly i@goractical ends. In this respect the 19th and
20th centuries have differed from all that havegued them in “the cumulative products of scientésearch and its utilitarian application, whith i
its degree is altogether unexampled in the histionyankind”.

The fact that progress of a certain kind contirares accelerates can obscure the features of oudegline, since this decline has by no means
reached the depths of sterility shown by Romeer8tid and 4th centuries AD. Our situation is mi@eethat of the Greeks, whose faith in progress,
particularly in technology and medicine, continfredh the great age of the 5th century into theBhin the same way that similar expectations in
these spheres have continued from the 19th cantorthe present. There was however “no fallingimféreative energy”: it was the age of the
greatest orators and philosophers, when new fdrars @and literature appeared, with remarkable robsin mathematics and astronomy. But, as in
our case, “something at least of the old confidéiackbeen lost”.

With us scientific and technological advance cortinapace, and the exploration of space leadstranastronomical discoveries. Inventiveness in
new forms of culture continues — science fictiampriessionism in art and literature, the achievesnaritim, radio and television — we are far from
the cultural barrenness which overcame Rome idttheentury AD. Where this threatens, and mostooisly resembles that of Rome, is in our
architecture. In the 3rd century the Classicalrerdissolved into plain walls and bare facadethidrsame way as our glass and concrete houses have
succeeded the buildings of the 19th and earlier @8ituries, so varied in design and ornament.

In sculpture Thorvaldsen, Gibson and Bates, wittigiht-hearted charm of Carpeaux, mark the safiseiong tradition, though elements of it linger
in the ponderous forms of Maillol and Henry Modréth Rodin something new appears, his “Balzacertithg the spirit and personality of the
subject by effects of light and shade, opticasitios in the place of clear-cut form; or in theiefaodelled construction of his human figures with a
plasticity maintained in the bronze casting andevieen copied in marble. This style recalls thiedtary impressionist sculpture, and goes along
with the many modern experiments of more or lessath kind. In this respect too, the part playgdlistract designs parallels the variety of non-
figural matifs in the post-Classical and Byzantregiods, later intensified by iconoclasm and ttfieénce of Islam. The disparate and anarchist
trends in today's art are expressive of our own éfgénxiety — most obviously in the movements ahpag as it ruptured the Classical mould, to
the further movement represented by Picasso, fabanafism to abstraction and symbolism.

The oncoming anguish of the age is expressed bteeinth century artists like Van Gogh in his seifrpits and his writhing, agonised landscapes,
and in Munch’s “Scream” of 1893. Almost a centuaglier Goya had painted his “3rd May 1808”". In‘iiésasters of war” and the “dark paintings”
of his final phase he presents war and all somssifness in a totally different manner to acadé&tassicism. Another century had to elapse before
the cruel wastage and mutilation of young liveseampublic consciousness in the terrible yeargstwfallowed the glamorous expectations of
August 1914, but already Goya was portraying welfects in negating humanity among the stinkingoes, raped women and their wailing
children. The bloodthirsty, sadistic evil is exgezsin the “Disparates” (or “Absurdities”) — noghing matter these — and in the leering faces and
monstrous Satanism of “Witches’ Sabbaths” and aépictions of the dark side of human existencselFtoo hints at occult forces taking power,
but the full dimension of this menace as the nmétecentury opens is left to Goya: the sinisteebnof a phase of history, which with its torture,
holocausts and military massacres, its terrorishirdlumanity, begins to rival, in the lives andtbeaf millions, the miseries of the last centug. B

19. Which one of the following is NOT a characterisc of the modern age? (sepassage P
A) Afalling off in creative energy
B) New forms of culture
C) Undecorated architecture
D) Anarchist trends in art
E) Ever more sophisticated technology

20. Which one of the following options does NOT ejqin the decay of Roman art? (sepassage P
A) Iconoclasm and the influence of Islam
B) The disappearance of the classical orders initeature
C) Non-figurative art
D) Impressionist sculpture
E) The arts becoming sterile



21.

22.

23.

24,

25.

26.
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Rodin marks the turning point in modern sculptue because: (sepassage P
A) He used optical illusion and light and shadeetftect the personality of the subject
B) He rejected the light-hearted charm of Carpeaux
C) There was no continuity with the past in his kvor
D) His style anticipates the ones of Maillol and dve
E) He worked in bronze and marble
Of the works considered in thepassage 2the earliest expression in painting of théanguish of the
age” was:
A) Goya’s“Disasters of war”
B) Van Gogh'’s self-portraits
C) Munch’'s*Scream”
D) The work of Fuseli
E) Van Gogh's landscapes

According topassage 2for which of the following reasons is the modermge most similar to Rome
in the fourth century AD?

A
B)
C)
D)
E)

There were similarities in Roman and modern ieckural developments
Life was miserable in Ancient Rome as in the srodvorld

Faith in progress, especially in mathematicsasicbnomy

The arts continued to progress in Rome, and dleeso in the modern world
In both Rome and the modern world faith in pesgrremained

Test di Cultura Generale

Title V of the Italian Constitution was the sulfect of constitutional reform in 2001. What is it dout?

A
B)
C)
D)
E)

The ordering of the Local Authorities

The guarantees set down in order to preserv€ gmstitution

The judicial system

The relations between the Italian governmentthrcEuropean Union
The rights and duties of citizens in mattergetbical and social relations

What is the common name for the series of prages and unrest that began in the winter of 2010/11
in the Arab world?

A
B)
C)
D)
E)

The Arab Spring

The Gulf War

The October Revolution
Pan-Arabism

The Arab League

Which treaty, signed on 7 February 1992, estabhed the European Union?

A
B)
C)
D)
E)

Treaty of Maastricht
Treaty of London
Treaty of Schengen
Treaty of Lisbon
Treaty of Rome



27. In which foreign museum in 2013 was there a maj exhibition of the archaeological finds from
Pompeii and Herculaneum?
A) British Museum
B) Frankfurt Archaeological Museum
C) The Louvre
D) Taipei National Palace Museum
E) Metropolitan Museum of Art

Test di Storia
28. This building is typical of the style known as:

A) Art Nouveau
B) Rococo

C) Neo-classical
D) Baroque

E) Futurist

29. Which one of the following historical events isepresented in this painting?

The shooting of civilians after an uprising ooad in 1808 in Madrid
B) The killing of civilians in Russia by Napoleorteops in 1812
C) The Revolution of Naples in 1799
D) The Boston Massacre of 1770
E) An episode that took place in France in 1793nduthe Reign of Terror
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30. Select the series that places the European aitgtts in correct chronological order:
A) Bramante, Herrera, Bernini, Viollet-le-Duc, Gaud
B) Herrera, Bramante, Bernini, Gaudi, Viollet-leu
C) Bernini, Bramante, Viollet-le-Duc, Gaudi, Heaer
D) Gaudi, Viollet-le-Duc, Bramante, Herrera, Bernin
E) Viollet-le-Duc, Bernini, Gaudi, Herrera, Bramant

31. The only surviving book about architecture fromthe Classical World isDe Architecturg written in

the 1st century BC. Who was its author?
A) Vitruvius
B) Strabo
C) Tacitus
D) Vergil
E) Ptolemy

32. Which one of the following architects is assated with the Bauhaus school?

Walter Gropius
B) Frank Lloyd Wright
C) Le Corbusier
D) Giles Gilbert Scott
E) Alvar Aalto

33. Select the series in which the following philophers are correctly arranged in chronological orde

A) Pythagoras-Socrates-Plato-Aristotle-Epicurus
B) Pythagoras-Epicurus-Socrates-Plato-Aristotle
C) Epicurus-Pythagoras-Aristotle-Plato-Socrates
D) Epicurus-Plato-Aristotle-Socrates-Pythagoras
E) Aristotle-Socrates-Pythagoras-Epicurus-Plato



34. This painting is the work of:

A) Titian
B) Raphael

C) Michelangelo
D) Veladzquez

E) ElGreco

35. Which one of the following was the writer and evolutionary who foundedYoung Italy and inspired
the Risorgimento?

A) Mazzini
B) Manzoni
C) Garibaldi
D) Cavour
E) Gioberti

36. The construction of the Palace of Versailles,sashown in the photograph, began in the reign of
which sovereign?

A) Louis XIV
B) Louis XVI
C) Louis XVII
D) Louis Xl
E) Louis XV

10
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37. Which one of the following was the site of affaous battle in the Second Italian War of Independece?
A) Solferino
B) Anzio
C) Montecassino
D) Caporetto
E) Lepanto

38. On what date did Hitler become Chancellor of Genany?
A) January 1933
B) October 1929
C) August 1934
D) July 1932
E) May 1928

39. The technique of which 20th Century painter cosists of dripping paint onto the canvas?
A) Jackson Pollock
B) Mark Rothko
C) Piet Mondrian
D) Georges Braque
E) Roy Lichtenstein

40. Which one of the following statements is NOT ect about the French Revolution?
A) King Louis XVI was beheaded in 1790
B) The attack on The Bastille on 14th July 1789 wa@e of the most important events of the Revolution
C) A motto of the Revolution was “liberty, equalifyaternity”
D) Robespierre and the Jacobins were the domimanpgluring the Reign of Terror
E) Napoleon Bonaparte overthrew the Directory 1897

41. What is the correct chronological order of thdollowing sculptures?

A) b-a-c-e-d
B) a-b-c-d-e
C) c-d-b-e-a
D) c-a-b-e-d
E) b-d-c-e-a

11



Test di Disegno e Rappresentazione
42. By sectioning the right circular cone with plaes 1, 2, 3, 4, we will obtain respectively:

A) 1-Circle, 2—Ellipse, 3—Parabola, 4-Hyperbola
B) 1-Ellipse, 2-Circle, 3—Parabola, 4—Hyperbola
C) 1-Circle, 2-Ellipse, 3—Hyperbola, 4—Parabola
D) 1-Ellipse, 2-Circle, 3—Hyperbola, 4-Parabola
E) 1-Parabola, 2-Hyperbola, 3-Circle, 4-Ellipse

43. The cardboard cut-out shown below can be foldetth make a small box.

®
|

Which of the small boxes shown below could be mad®m the cut-out above?

Y

A) 1,2and3
B) 1,3and5
C) 2,3and4
D) 3,4and5
E) 2,3and5

12
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44. Which one of the solids (1-5) can be added toet solid (a) to make a cube?

45.
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A) 1-c, 2-a, 3-b, 4-d
B) 1-a, 2-d, 3-c, 4-b
C) 1-, 2-a,3d, 4-b
D) 1-d, 2-c, 3-b, 4-a
E) 1-a, 2-b, 3-c, 4-d

46. A circular piece of paper is folded and then pached as shown in diagrama. The paper is then

folded and then punched again as shown in diagraim
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Which one of the 5 views above shows how the papgould look when fully unfolded?

A 4
B) 5
c) 1
D) 3
E) 2

13



47. Match each contour map (1, 2, 3, 4) to the carsponding image (a, b, c, d).

_— S ——=
A, ——ead o A

c
A) Sectional view a - 3; Sectional view b - 1; $aaal view c - 4; Sectional view d - 2
B) Sectional view a - 1; Sectional view b - 2; $mwl view ¢ - 3; Sectional view d - 4
C) Sectional view a - 4; Sectional view b - 1; 8wl view ¢ - 3; Sectional view d - 2
D) Sectional view a - 2; Sectional view b - 3; $mwl view c - 4; Sectional view d - 1
E) Sectional view a - 4; Sectional view b - 2; 8swl view c - 3; Sectional viewd - 1

48. Only ONE elevation (V, W, X, Y, Z) correspondso the roofing plan shown below. Which one is it?

AT A ATy A B

View from above A\ W
A) X
B) V
C) W
D) Y
E) Z

49. Identify the floor plan that corresponds to thecross-sectional isometric view of the building belwv.
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A) a-5, b-6,c-3
B) a-5,b-3,c4
C) a-1,b-3,c2
D) a-1, b-6, c-2
E) a-5, b-6,c-2

51. Associate the 3-dimensional views of the sta@rges with the plan projections below.

% = - { : g //&% ; = \.\;\\-\'\\_:\}1{ ~.‘\
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a b C d e
A T [ |
[ 1 v
v
1 2 3 4 5 0 7
A) 1-g, 2-d, 3-f, 4-c, 5-a, 6-b, 7-e

B) 1-a, 2-d, 3-f, 4-b, 5-g, 6-c, 7-e
C) 1-g, 2-c, 3-¢, 4-b, 5-a, 6-d, 7-f
D) 1-g, 2-d, 3-e, 4-c, 5-a, 6-b, 7-f
E) 1-a, 2-d, 3, 4-c, 5-g, 6-b, 7-e

Test di Fisica e Matematica

52. Calculate:log,16 —log,(0,25) — 209,32
A -4
B) 9
C) 4
D) O
E) 8

53. What is the equation of the straight line whichpasses through the points (2, 5) and (6, -1)?
A) 2y+X=16

B) 3y+ =16
C) =3x-20
D) 3y=2x-15
E) y=3+4

15



54. The triangle ABC is right-angled at vertex C. he length of AC is 5 cm. The angle CAB is 60 degeeA

55.

56.

57.

line segment is drawn from C to intersect AB at thepoint H, such that CHB is a right-angled triangle.
What is the length of HB in centimetres?

A 75

B) 10

C) 25

D) 5V3/2
E) 5/3

The equationx2 + 3x =c - 5, with the real parameterc, has a real repeated root ox.
What is the value ofc?

A -16
B) —4
Cc) -1
D) 4
E) 16

The setA contains all of the numbers that are positive intger divisors of 30. The seB contains all
of the numbers that are multiples of 5. How many nmbers are in both setA and setB?
A 4
B) O
C) 2
D) 3
E) 6
Two athletes (X and Y) run in a 400 m race. Thgraph shows how the distance covered during the
race varies with time for each athlete.

400

/
i
!
300

200 7
/ y
//
100 -7
A
0

Below are four possible statements about this race
1 Athlete X reached the finishing line at 400 m bere Athlete Y 2 Athlete X led the race at&if distance
3 Athlete X started before Athlete Y 4 AthdeY overtook athlete X att,
Which statement(s) is/are correct?

A) 2 and4 only

B) 1only

C) 2only

D) 1and3only

E) 2,3 and4 only

distance (m)

16
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58. 50 grams of water at 20 °C is poured into a ctainer holding 200 grams of water at 70 °C.
What is the final temperature of the water after t is thoroughly mixed?
[Assume there is no transfer of heat between theater and its surroundings, including the container]
A) 60°C
B) 30°C
C) 40°C
D) 45°C
E) 50°C

59. A cyclist accelerates uniformly from an initialspeed of 3.0 m&to 5.0 ms" in a time of 4.0 seconds. She
then maintains this speed for a further 6.0 secondslow far did the cyclist travel in these 10 secorx?
A) 46 m
B) 31m
C) 34m
D) 62m
E) 38m

60. A particle of weight 5 N is held in position bywo light ropes as shown below. One of the ropesakes an
angle of 60° with the upward vertical, the other isorizontal. What is the tension in the horizontakope?

A) 53N
B) 125/3N
C) 10/3N

D) 5N
E) 10N

*kkkkkkkkk FI N E D E LLE DO MAN D E *kkkkkkkkk

In tutti i quesiti proposti la soluzione ¢ la rispsta alla lettera A)
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